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Answer all questions.

Question 1: A winner in the pandemic — Amazon

Table 1: Retail revenue of the top ten largest Public Retailers (2010 and 2020)

US Retailer Retail Revenue in 2010 Retail Revenue in 2020
(in US$ billion) (in US$ billion)
Amazon 50 1,400
Walmart 179 339
The Home Depot 47 267
Costco 24 134
Lowe's 29 102

Source: visualcapitalist.com, accessed 29 June 2020

Extract 1: Market strategy of Amazon

Amazon is interesting not just because of its competitive scope, but also because of its market
strategy. Michael Porter of Harvard Business School suggested in 1985 that companies need to
choose not only whether to have either a broad market/ product focus or a narrow one, but also
either a differentiation or cost leadership strategy. Other strategists would contend that you can mix
the two as a hybrid.

A differentiation strategy is where the product or service is either perceived to be, or is, of superior
customer value and has a definite price premium. A cost leadership strategy is where the price may
be similar or usually lower than the competition, but costs are certainly lower.

In Amazon'’s case, the core strategy is clearly more a cost leadership one when compared with brick
and mortar retailers. Amazon has massive warehousing facilities and processing capability, which
give it physical economies of scale. That in turn gives it cost advantages. But in its service, it is
differentiated — so it is something of a hybrid.

Amazon is ultra-keen on customer feedback, and Jeff Bezos, founder and chief executive officer of
Amazon.com, Inc. has spread customer focus as a mantra throughout the organisation. Such
service differentiation does not just bring loyalty but also encourages customers to buy more from
Amazon.

The company is venturing into some perhaps unexpected new areas, for example, by exploiting its
distinctive capability in handiing large amounts of data and for new types of customer, sending a
shiver down the spines of many large information technology (IT) companies.

Source: accaglobal.com, accessed 14 July 2022

Extract 2: Amazon charged with abusing EU competition rules

The European Commission has charged Amazon with abusing its dominant position in online retail
to gain an unfair advantage over competitors. It said Amazon had used data on third-party sellers
that use its marketplace to boost sales of its own-label goods. Third-party sellers are independent
sellers who offer a variety of new, used, and refurbished items on Amazon'’s platform. The steps to
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place an order with a third-party seller are the same as placing any other order on Amazon.com.
You add items to your cart and complete your order through the Amazon checkout process. The
Commission also launched a fresh probe into the possible preferential treatment of sellers that use
the technology giant's logistics services.

Amazon rejected the charges, saying no firm ‘cared more’ for small businesses. It faces a potential
fine as high as 10% of its global turnover if it is found guilty of breaching competition law — about
US$19 billion. In a statement, the European Union’s (EU) Competition Commissioner Margrethe
Vestager said it was vital that platforms with ‘market power’ did not ‘distort competition’.

‘Data on the activity of third-party sellers should not be used to the benefit of Amazon when it acts
as a competitor to these sellers,’ she added. ‘With e-commerce booming, and Amazon being the
leading e-commerce platform, a fair and undistorted access to consumers online is important for all
sellers.’

In a statement Amazon insisted that — far from being anti-competitive — its own private-label
products were good for customers and offered more choice. ‘Amazon represents less than 1% of
the global retail market, and there are larger retailers in every country in which we operate,’ it said.
‘No company cares more about small businesses or has done more to support them over the past
two decades than Amazon.' It also pointed out that there are more than 150,000 European
businesses selling through its online marketplace.

The charges come as the coronavirus crisis has driven huge sales for the retailer, as people
increasingly turn to online shopping. In August, boss Jeff Bezos became the richest man in the
world with a fortune of more than US$200 billion after the firm's share price rocketed in the early
months of the pandemic.

Source: bbc.com, accessed 19 November 2020

Extract 3: China’s online shopping addiction is killing its green packaging drive

The e-commerce industry is trying to reduce plastic waste from the millions of packages it ships
every day. If you worry about all the waste generated by the annual rush of holiday shopping and
gift giving, it is nothing compared to the mountains of discarded packaging that comes from a single
event in China.

On 11 November each year, the world’s biggest consumer market goes into overdrive as
e-commerce giants like Alibaba Group Holdings Ltd. and JD.com Inc. lure shoppers with huge
bargains during the Singles’ Day bonanza. Alibaba reported almost 500 billion yuan (US$76 billion)
of sales this year, nearly four times United States (US) Black Friday and Cyber Monday spending
combined. Greenpeace, an independent global campaigning network that acts to change attitudes
and behaviour to protect and conserve the environment, estimates that Singles’ Day generated
52,400 metric tons of carbon dioxide (CO,) from manufacturing, packaging and shipping in 2017.
The national railway has to employ hundreds of high-speed trains to help with deliveries every year.

As President Xi Jinping pushes for stronger environmental protection and consumers grow more
eco-conscious, the nation’s e-commerce giants are under pressure to find greener ways to handle
the annual extravaganza, starting with plastic. China’s soaring use of the material has become one
of the world’s most pressing environmental issues but switching to other materials is costly for
smaller businesses and the government has struggled to implement a plan to phase out single-use
plastics.

© NJC 2022 9757/01/Aug/22 [Turn over

More papers available at www.testpapersfree.com

BP~391



E-commerce companies are trying to stem the tide. For Singles’ Day this year, Alibaba’s logistics
arm Cainiao designed recyclable corrugated cardboard boxes that do not have to be sealed with
plastic tape. The company offered the packaging to more than 500 sellers on Tmall, including
brands like Nestle SA and Procter & Gamble Co. The so-called zipper boxes cost twice as much as
their usual packaging. Cainiao says it used 190,000 plastic-free boxes and 3 million biodegradable
bags to package Singles’ Day orders this year. While that is a step forward, it is just a fraction of the
total increase in packaging this year. Cainiao emblazons the boxes with dolphin images to ‘raise
awareness of how plastic pollutes the oceans’.

Still, without government regulation, companies are left to decide if they want to use more
sustainable packaging. Online shopping has become such a key driver of China’s domestic
economy, especially during the pandemic, that authorities have been reluctant to institute rules that
could hurt the industry. The environment ministry, which drives climate policies, doesn'’t have the
power to mandate greener packaging.

Source: Bloomberg News, 21 December 2020

(a) Compare the relative change in the retail revenue for Amazon, Walmart and Home Depot in 2010
and 2020. 2]

(b) Using a diagram and a relevant elasticity concept, explain how the Amazon’s differentiation strategy
(Extract 1) may have contributed to the change in its revenue. [5]

(c)  With reference to Extract 1, explain a source of cost advantage experienced by Amazon.

[2]

(d) Identify and explain two possible barriers to entry faced by the potential competitors into the
e-commerce market that Amazon is in. [3]

(e) Discuss the likely impact of Amazon's dominant position in the industry on society. (8]

()  The ‘mountains of discarded packaging’ (Extract 3) that comes from online shopping addiction leads
to economic inefficiency in resource allocation.

Assess the most appropriate measures to deal with this economic inefficiency in resource allocation.
[10]

[Total: 30]
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Question 2: Trade Policies between Singapore, ASEAN and China

Extract 4: India has good reason to reject the Regional Comprehensive Economic
Partnership

India dropped out of the Regional Comprehensive Economic Partnership’s (RCEP) negotiations in
November 2019 after participating in 28 of 31 rounds of talks over a six year period. India's
withdrawal, announced last year in a joint leader’s statement issued at the end of an Association of
Southeast Asian Nations (ASEAN) summit in Bangkok, said that India had ‘significant outstanding
issues which remain unresolved.’

Indian textiles, agriculture and dairy sectors, which employ hundreds of millions of workers, are
seen as the most vulnerable to Chinese and other RCEP signatory imports. Under the pact, india
would have been required to steadily drop tariff levels. China already enjoys a huge trade surplus
with India, which hit US$48.6 billion in the 2019 — 2020 fiscal year period, according to Indian official
statistics.

RCEP proponents say it will help signatory nations to emerge faster from the pandemic’s economic
devastation including through greater participation in and access to regional supply chains. But
Indian political leaders counter that they are protecting domestic interests from cheap and, in
China’s case, often state-subsidised cheap imports.

Indian industry is already vexed by a sharp increase in imports from China that have adversely
impacted small and medium-sized factories in particular. At the same time, India’s exports are often
blocked by non-tariff barriers imposed by China, Indian trade groups and associations claim. Indian
textile, steel and tire industries, all protected in varying degrees from foreign imports, would likewise
face sudden stiff competition from RCEP nations.

Source: Asia Times, 15 November 2020

Table 2: Current account balance as % of GDP, 2016 — 2020

2016 2017 2018 2019 2020

China 1.7 1.5 0.2 0.7 1.7
india -0.5 -1.5 -2.4 -1.1 1.3
Singapore 17.7 17.3 15.2 14.5 17.1

Source: World Bank national accounts data, and OECD National Accounts data files

Extract 5: Easier, cheaper for Singapore companies to do business regionally with RCEP

Companies will soon find it easier and cheaper to conduct business in the region when the
newly-inked, region-wide free trade pact takes effect, said Trade and Industry Minister Chan Chun
Sing. Speaking to reporters after signing the RCEP, Mr. Chan said the agreement provides
businesses with better intellectual property protection and enables them to consolidate their
production across participating countries, which will lead to cost-savings and time-savings.
Consumers, too, will see benefits with a more competitive range of products to choose from, as well
as cost-savings passed down from the elimination of tariffs on most goods traded among
participating countries, said Mr. Chan.
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The RCEP was signed virtually by all ten ASEAN members and key partners Australia, China,
Japan, South Korea and New Zealand on the last day of the annual year-end ASEAN Summit
hosted by Vietnam, which also handed over the chairmanship of the grouping to Brunei. Together,
the RCEP countries account for 30% of the global economy and one-third of the world's population.
Singapore's trade value with the other 14 RCEP members has grown steadily over the years,
reaching 50.4% or S$515.2 billion of the Republic's global trade last year.

The agreement's key benefits include tariff elimination for at least 92% of goods traded among
members, and allowing businesses to invest in fellow RCEP countries without having to meet
conditional performance requirements. As a result, businesses handling chemicals, plastics and
processed food could see cost savings for their exports especially to China, Japan and South
Korea. Express consignments and perishable goods also have to be cleared by customs within six
hours of arrival.

There will also be greater clarity and transparency for firms seeking government projects, with
members agreeing to publish laws, regulations and procedures on such opportunities. RCEP
members are also obliged to share information that may be relevant to small and medium
enterprises so that they can benefit from the agreement.

As for concerns some have raised about benefits being tilted in favour of larger economies, like
China, Mr. Chan said the signing of the RCEP will bring about mutual benefits for both Chinese
companies venturing beyond the domestic market, as well as for non-Chinese companies who want
to enter China. It will also allow for both the Chinese and regional markets to be seen as an
integrated market, which will make the grouping more attractive to global investors and enhance the
competitiveness of its exports to the rest of the world, he added.

Source: The Straits Times, 15 November 2020

Extract 6: Singapore to be a reliable node in global supply chain and build internal resilience

Singapore has to build its reliability as a node in the global supply chain, while also keeping an eye
on the resilience of its own internal supply networks, said Senior Minister of State for Trade and
Industry Chee Hong Tat. This is especially so since the coronavirus pandemic has affected many
businesses and employees around the world.

‘The global economy is experiencing both a supply and demand shock. Supply chains have been
disrupted, as countries imposed lockdowns and export bans. Even as countries are gradually
reopening their economies, travel restrictions remain,’ Mr. Chee said. ‘To enhance supply chain
resilience, some countries may respond by restricting exports — especially for essentials, such as
food and medical items — while others will strengthen their interdependence with other economies.
As a small and open economy, Singapore’s response cannot be the former. We must continue to
look outward and find our relevance in the new world.’

He added that Singapore is keeping its ports and production fines open to ensure that trade flows
unimpeded, which shows that it is reliant in times of crisis. He brought up the example of mask
manufacturer Medicom, which is headquartered in Montreal. It announced in June that it would
locate its new surgical mask manufacturing facility here. Mr. Chee said: ‘These investments will
create a diversity of good jobs in research, product development, manufacturing and commercial
functions.’
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But internally, Singapore also needs to constantly review its sources for essential items, he added.
For instance, it is establishing new networks and diversifying supply sources and markets in food to
ensure long-term food security. Singapore is also working on building local capabilities, such as in
urban farming and agri-food technology, he added.

But ultimately, workers and companies have to prepare for changes in the global supply chain by
taking advantage of opportunities in the digital economy. Businesses can go overseas through
e-commerce platforms, for instance. Workers can also upskill themselves through continual training.

Source: The Straits Times, 2 July 2020

(@) With reference to Extract 4 and Table 2, explain two reasons why India is against the removal of
import tariffs. [4]

(b) Using a diagram and Extract 5, explain how the removal of import tariffs would impact consumer
surplus. [3]

(¢}  With reference to Extract 6:

() Explain how an increase in foreign direct investment may impact the balance of payment in
Singapore in the short run and the long run. [3]

(i) Explain why an increase in foreign direct investment may lead to an increase in the rate of
unemployment in Singapore. [2]

(d) Discuss the relative benefits of diversification for a resilient supply chain as compared to
specialisation of exports to an economy engaging in international trade. [8]

(e) Discuss whether participation in the RCEP would likely enhance the living standards of an economy.
[10]

[Total: 30]
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Answer three questions in total.
Section A

One or two of your three chosen questions must be from this section.

1 Microchips are a crucial element in the manufacturing of final goods such as cars and consumer
electronics. COVID-19 pandemic in 2020 had lockdowns which resulted in bottlenecks in the supply
chain for semiconductors and changed preferences to work-from-home. Global economic growth is
projected at -4.9% in 2020.

(a) Explain why a significant shortage of microchips exists during COVID-18 pandemic in 2020.
(10]

(b) Discuss whether consumers or producers are more likely to bear the cost of the change in
microchip prices. [15]

2 (a) Explain why some consumer electronics megastores in Singapore like Courts and Harvey
Norman would price match other consumer electronics megastores by charging the same
prices for same products, but smaller consumer electronics stores in the neighbourhood would
not. [10]

(b) Discuss whether demand or supply factors are more important in explaining the coexistence of

big businesses and small independent businesses. [15]

3 Children who grow up in lower-income families have less access to quality education. Singapore
government will start to level the playing field by providing more assistance to those in danger of
being left behind during pre-school years. In addition, the government will also double spending on
the pre-school sector to $1.7 billion by 2022.

Discuss the factors that the Singapore government should consider in its decision to intervene in the
pre-school education market. [25]
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Section B

One or two of your three chosen questions must be from this section.

4 The Bank of Korea slashed its benchmark interest rate to a record low of 0.75% in an emergency
move following similar actions by the Federal Reserve and other central banks to combat economic
damage from the coronavirus outbreak.

Source; The Straits Times, 16 March 2020

(@) Explain the factors that affect Singapore’s choice of exchange rate policy as its main policy to
achieve internal stability in the economy. [10]

(b) Discuss whether a fall in world interest rates would have a positive impact on Singapore’s
economy. [15]

5 Amid the COVID-19 pandemic, investment will remain weak for an extended period. Prolonged
recession will shrink the labour force and the lending capacity of financial systems. These have
damaged the supply side of many economies, with many economies facing recession and cost push
inflation.

(a) Explain how a sustained period of low aggregate demand might damage the supply side of an
economy. [10]

(b) Discuss whether demand management or supply-side policies are more effective in helping an
economy to recover from the effects of the pandemic. [15]

6 The United States (US) officially named China a ‘currency manipulator’, intensifying tensions between
the world's two largest economies. The announcement by US Treasury follows a sharp fall in the
value of the Chinese yuan against the US dollar. China is the world's biggest user of energy,
components and grain. The Chinese yuan's fall will impact economies it has strong trading links with.

Source: BBC News, 6 August 2019
(a)  Explain the possible causes of a fall in the value of a country’s currency. [10]

(b) Discuss the extent to which the value of the Chinese yuan might impact Singapore’s economy.
[15]
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e There would be less choices for consumers since the variety of products will also
fall. Dominant firms may also not have the incentive to innovate, again hurting
consumers welfare.

(i) Dominant firms such as Amazon could be x inefficient.

« Dominant firms could also be X-inefficient. This may occur when the dominant
firm became complacent due to lack of competition and hence produce at a higher
average cost instead. It will not be producing on its long run average cost curve.
Without the competitive pressure on profit margins, the dominant firm could be iax
about cost controls, it could over-renumerate its staff by giving them huge perks
and bonus packages or hire more staff than necessary.

e The firm produces at a cost that is above their long run average cost and still
continue to make supernormal profits in the long run because of the barriers to
entry that limited competition in the market. The firm is said to suffer from
X-inefficiency.

(i) Dominant firms may lead to greater inequity

e With Amazon’s ability to set higher prices and ability to enjoy internal economies
of scale, Amazon can eamn supernormal profits in the long run due to the high
barriers to entry it set up as mentioned in part (d).

e Amazon is owned by a select few, namely the shareholders which make up a
minority of the population. Hence, if Amazon continues to earn supemormal
profits in the long run and dividends are paid to the shareholders at the expense
of consumers. Wealth would be concentrated at the hands of the shareholders
who are initially already better off than the majority of the population. Extract 2
mentioned that Jeff Bezos, founder of Amazon, became the richest man in the
world with a fortune of more than $200bn after the firm's share price rocketed in
the early months of the pandemic.

o This leads to a greater income inequality and thus, may cause unfair distribution
of economic welfare, leading to greater inequity, at the expense of consumers.

Body (2): Desirable impact of dominant firms such as Amazon on society

{i) Consumers can enjoy lower prices and a higher quantity demanded. This leads to
higher consumer surpius enjoyed where consumer surplus is the difference

between how much consumers in the market are prepared to pay and how much

they actually pay.

e Amazon may bring benefits to the consumers of e-commerce in the U.S. in
terms of lower prices due to the internal economies of scale enjoyed by the
firm as discussed in part (c).

o The cost-savings could be passed on to consumers in the form of lower prices.
Consumers enjoy lower prices, and purchase a higher quantity demanded.
This will result in higher consumers’ surplus.

(i) Innovation can be carried out by large and dominant firms such as Amazon.

e Amazon places great priority on consumers service [Extract 1].

e Large firms such as Amazon have higher ability to engage in intensive R&D
and innovation due to the supernormal profits eamed in the long run.

e Amazons engage in intensive R&D to develop new processes and service
differentiation and enhance existing ones. This results in dynamic efficiency
benefitting society. Dynamic efficiency can be defined as the situation in which
firms are technologically progressive (through investing in research and
development for the purpose of product and process innovation) in order to
reduce the average cost of production or to meet the changing needs and wants
of consumers over time. Examples include, Amazon investing in larger
warehousing facilities and processing capabiliity to meet the rising demand and
1o capitalize on its ability to gain internal economies of scale as discussed in
part (c). Extract 2 also mentioned that Amazon has created their own iabel
goods that are more align to consumers’ taste and preferences.

e These resulted in a befter quality and a wider variety of products to cater to
the different tastes and preferences of consumers. This translates to higher
consumer welfare.

Evaluative Conclusion:

s Whether dominant firms such as Amazon has more positive impact on society
depends on the leve! of contestability of the market.

o If the e-commerce has high contestability, these dominant firms such as Amazon will
likely benefit the society due to the incentive to innovate their processes and
differentiate their services they provide and at lower prices to keep potential entry of
firms at bay. This way, they achieve productive and dynamic efficiency for society
and increases consumers welfare.

e However, if there is low contestability in the e-commerce industry, for example, if
Amazon is able to reap significant internal EOS, the firms would likely not be
beneficial to society. There would be a lack of incentive to pass on the cost savings
to consumers or to use invest the supernormal profit gained into R&D without any
real threat of competition. This way, it will lead to allocative inefficiency and income
inequality in society.

Marking Scheme:
L2 For an answer that demonstrates knowledge and understanding and has application and
4-6 analysis:
marks At least GOOD breadth that considers the following economic concepts in

explaining multiple and balanced perspectives, viewpoints, relationships and
factors. MOST points chosen should be of relevance and significance in
answering the question.

At least GOOD depth in economic analysis that reflects the following in MOST
explanations.
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MSC = MPC + MEC
Cost/Benefit ($)

MPC +Tax

MPC
i
'
)
b MPB=MSB
v
! 1 —
Quantity
0 G Qa (ontine
shopping)

Figure 4: Impact of taxes

ions of i
e It is difficult to estimate the exact MEC as the impact of discarded packaging waste on the
environment is intangible and hard to quantify.
e Hence, the government may under-tax or over-tax, hence underconsumption or

overconsumption still persists, which does not eliminate the deadweight loss to achieve
allocative efficiency. For instance, if the government were to under-tax, the consumption will

still be between QsQp and not fall Qs.

Measure (2): Government could implement a regulation to phase out single-use plastics and

encourage the switch to other materials.

e With regulation against the use of single-use plastics, a material used mainly in
packaging, the demand for plastics will decrease.

e At the same time of the phasing out of plastics, government should encourage these
online shopping platforms to switch to other materials. This can be seen in Extract 3,
where Alibaba's logistics arm Cainiao designed recyclable corrugated cardboard
boxes that don't have to be sealed with plastic tapes. This is also known as the
zipper bag. Alibaba has also offered this packaging to more than its resefiers such as
Nestle SA and Procter and Gamble Co to use. Cainiao also used 190,000 plastic-free
boxes and 3 million biodegradable bags to package their Singles’ Day orders this
year.

Limitations of Regulation / Legislation of phasing out single-used plastics
e Regulation is a blunt tool, which may incur high costs of monitoring to be effective,
such costs includes the cost of checking on firms to ensure that they are abiding by
the regulations and prosecuting them in case of non-compliance.

Evaluative conclusion:

e In the short run, it will be more appropriate to use indirect taxes as a measure to reduce the
inefficiency in resource allocation in the online shopping market as it is relatively quick to
implement and the least costly way to reduce the over-consumption. Taxation forces the

consumers to internalize the external costs to the socially optimal level.

e The government will also be able to use the revenue collected from the tax to incentivize firms
to use alternative methods of packaging to reduce carbon emissions caused by the
single-used plastics used in packaging.

e Regulation / Legislation to reduce the use of single-use plastics in packaging might take a
longer time to achieve success in this case as it will effectively force the firms to reduce or
stop the use of single-use plastics.

e However, government has to ensure that businesses have the ability to switch to other
materials which are more environmentally friendly but not at the expense of their profitability.

o It is stated in Extract 4 that online shopping has become such a key driver of China's domestic
economy, especially during the pandemic, that authorities have been reluctant to institute rules
that could hurt the industry.

Marking Scheme:

Level | Descriptors

L2 For an answer that demonstrates knowledge, understanding, application and analysis:
5-7
marks At least GOOD breadth that considers the following economic concepts

in explaining multiple and balanced perspectives, viewpoints,
relationships and factors. MOST points chosen shouid be of relevance
and significance in answering the question.

At least GOOD depth in economic analysis that refiects the following In
MOST explanations.
v Accurate use of economic concepts, clear elaboration, and precise
use of economic terminologies, language and phrasing.

The answer should also be supported by:
Well-tabelled and well-referred to diagram(s) drawn with precision
(where appropriate).
Relevant examples and accurate use of facts.
Logical structure.

51 For an answer that demonstrates knowledge but lacks understanding, application and
1-4 analysis:
marks

INSUFFICIENT breadth that considers the following economic concepts.
Point(s) chosen may be of relevance but may not be of significance in
answering the question.

INSUFFICIENT depth in economic analysis that may reflect the following

v Lack of accuracy in the use of economic concepts, lack of n_waz
in elaboration, and lack of precision in the use of economic
terminologies, language and phrasing.

The answer should also be supported by:
Diagram(s) that may not be well-labelled, may not be well-referred to and
may not be drawn with precision (where appropriate).
Example(s).
Logical structure.

Evaluation
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2022 SH2 Prelim CSQ 2 Suggested Answer Outline

(a)

With reference to Extract 4 and Table 2, mx_u_m:_, two reasons why India is against the
removal of import tariffs.

[4]

Any Two well-explained argument for protectionism (i.e. against the removal of import
tariffs) below with clear reference to Extract 4 or Table 2:

Protect Domestic Employment
e India is against the removal of import tariffs on industries such as the ‘textiles, agricuiture

and dairy sectors' (Extract 4) as this would result in increase in its domestic unemployment
as such sectors employ ‘hundreds of millions of workers’. {1]

e With the removal of import tariffs in such sectors, the lowered relative price of tariff-free
imports from countries such as China would lead to a more than proportionate increase in
quantity demanded of imports given that such goods are fikely price-elastic in demand with
the great availability of substitutes from other countries. This would thus lead to an increase
in import expenditure, and ceteris paribus, would lead to a fall in aggregate demand (AD),
which would lead to a fall in derived demand of labour, causing cyclical unemployment in
India. [1]

Protect Balance of Payment
e As seen in Table 2, India has a current account deficit up to 2019 and thus may be against

the removal of import tariffs to protect against an overall balance of payment deficit. 1

e By reducing import expenditure, it will help India avoid depleting its foreign exchange
reserves, thus allowing India to be able to intervene to sell foreign currencies to appreciate
its exchange rate when necessary for example to deal with possible concerns of imported
inflation or boost foreign investor’s confidence in India. [1]

Price ($)
A S0
PT 8
PW \ 4
Do
1] Qty

& @ a aq
Fig. 1: Tariff Diagram

(c)

With reference to Extract 6:

(i) | Explain how an increase In foreign direct investment may impact the balance of
m.m<3m=. in Singapore in the short run and the long run.

(b)

Using a diagram and Extract 5, explain how the removal of import tariffs would impact
consumer surplus.

I3 S D

e There will thus be an increase in consumers’ surplus where consumers will benefit from
‘cost-savings passed down' (Extract 5), where the lowered cost of import tariff which is
removed is passed down to consumers in terms of lower prices of imported end consumer
goods. [1]

e With an import tariff, equilibrium price in the economy would be at Py and quantity
demanded will be at Q3 as seen in Figure 1. With the removal of import tariffs, there will be
an increase in quantity demanded by consumers from Q3 to Q4 as well as fall in equilibrium
price from Py to Py, as seen in Figure 1 thus leading to a greater difference between the
price consumers are willing to pay and actually pay. [1]

e Thus, there is an increase in consumers’ surplus is seen in Figure 1 from area ABP; to
ACP,,. Well-labelled and well-referenced diagram. {1]

e In the short run, an increase in foreign direct investment (FDI) will mean more debit
transactions increasing the long term capital flows thus worsening the country’s capital
and financial account, despite leading to an improvement in the overall balance of
payment (BOP) position. [1]

o Increased FDI also suggests repatriation of profits by the FDI from Singapore back to
the FDI's countries of origin in the long run. [1}

e The increase in debits would worsen Singapore's primary income account, thus
worsening the current account and thus worsening of Singapore’s BOP in the long
run. [1]

(i) | Explain why an increase in foreign direct investment may lead to an increase in the
rate of unemployment in Singapore. [2]

e FDIl in Singapore will lead to an increase in demand for high skilled labour as seen in
how increase in FDI created 'a diversity of good jobs in research, product
development, manufacturing and commercial functions', causing structural shift in the
economy. {1]

¢ Low skilled labour in Singapore thus lacks the necessary skills to be employed in such
jobs and thus the jobs skilis mismatch will lead to an increase in structural
unemployment in Singapore. [1]

(d)

Discuss the relative benefits of diversification for a resilient supply chain as compared
to specialisation of exports to an economy engaging in international trade.
i8]

Introduction

e State that the benefits to an economy can be indicated by the economy’s achievement of
the macroeconomic goals as well as improvement to the economy's standard of living
(SOL).
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e Lack of accuracy in the use of economic concepts, lack of clarity in
elaboration, and lack of precision in the use of economic
terminologies, language and phrasing.

E2 For an evaluation that contains

2 marks A synthesis of earlier economic arguments to arrive at relevant
judgements/decisions (i.e. answer the question).

Well-explained criteria-based evaluative comments supported by
accurate and clear analysis to provide fairness in views.

A good summative conclusion.

E1 For an evaluation that contains

1 mark Relevant but unexplained evaluative judgement(s)/statement(s) i.e.
evaluative judgement(s)/statement(s} not supported by analysis or

A relevant unexplained conclusion

(¢} | Discuss whether participation in the RCEP would likely enhance the living standards of
an economy. e e [10]
Introdyction

o State that participation in the RCEP will bring about greater integration of economies in the
ASEAN region in terms of trade in goods and services as well as foreign direct investment
(FDI).

e With an increase in trade and FD1, there will likely be an improvement to aggregate demand
(AD) of an economy which may contribute to improvement to the material standard of living
(SOL) of an economy.

e However, with trade and FDI, there may be concerns of vulnerability to internal stability due
to large inflow of imports as well as income inequity which may compromise on the material
and non-material aspects of SOL.

Body

1. _Improvement to material SOL with RCEP

e RCEP will lead to ‘tariff elimination for at least 92 per cent of goods fraded among
members’, thus leading to improved price competitiveness of a countries exports. With
lowered tariffs, price of exports are lower to the foreigners. For countries that export goods
that are refatively price-elastic such as manufactured goods that have substitutes that are
exported by other countries, the lower price of exports will lead to a more than proportionate
increase in quantity demanded of exports, and thus increase in export revenue.

e Ceteris paribus, this increase in export revenue will lead to an increase in an economy’s AD.

e In addition, RCEP helps facilitate FDI across member countries as member nations are able
to ‘invest in fellow RCEP countries without having to meet conditionai performance
requirements’. RCEP members nations also agree to ‘share information’ that may be
relevant to help small and medium enterprises engage in FD!. With an increase in FDI, an
economy’s AD increases. |n addition, the likely accumulation of capital assets with FDI as
well as transfer of new ideas and technology will likely enhance an economy’s productive
capacity, leading to further improvement in LRAS.

e Thus, with the increase in non-inflationary economic growth, the household's disposable
income in the economy increases. The increase in real purchasing power and thus ability to

consume more goods & services will thus indicate an improvement to an economy's
material SOL.

2. Worsening of material and non-material SOL with RCEP

a) Material SOL

e With tariff elimination of the RCEP, some member nations may suffer from increase in
imports instead. This is seen in the case where India refused to participate in RCEP due to
concems of ‘sharp increase in imports from China’ which are likely to ‘adversely’ impact
‘small and medium-sized factories'.

e With a larger extent of increase in import expenditure as compared to export revenue, AD is
likely to fall instead of increase and thus leading to a fall in national income and material
SOL instead.

o This is especially so for developing economies who may need to protect their infant industry
from competition from relatively more mature industries of developed economies.

b) Non-Material SOL

e FDI if there were to bring in new ideas and technology may result in structural shifts in an
economy. This may lead to some workers being structural unemployed. For example, in the
case of Singapore where the economy is restructuring to tap on opportunities by moving up
the global supply chain and tapping on ‘opportunities in the digital economy’, the low-skilled
workers in Singapore may face the threat of structural unemployment.

e As these low-skilled workers face a lower demand for their labour services and thus fali in
their wages, this may contribute to a worsening of income inequity in Singapore.

e Worsening income inequity may compromise on social cohesion in an economy and thus
compromise on an economy’s non-material SOL.

Evaluative Conglusi

s Whether or not RCEP will enhance an economy’'s SOL depends on the nature of the
economy. For example, countries that are more reliant on external sources such as trade
and FDI for growth are more likely to benefit from material SOL. For example, as a small
and open economy such as Singapore, where her trade value with the other RCEP
members has grown steadily and accounts for 50.4 per cent of her global trade.

s Whether or not RCEP will enhance an economy's SOL also depends on the government's
ability to address any threats to SOL brought about by RCEP.

Marking Scheme:

Level | Descriptors

L2 For an answer that demonstrates knowledge, understanding, application and
5-7 analysis:

marks

At least GOOD breadth that considers the following economic concepts
in explaining multiple and balanced perspectives, viewpoints,
relationships and factors. MOST points chosen should be of relevance
and significance in answering the question.

At least GOOD depth in economic analysis that reflects the following in
MOST explanations.
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Microchips are a crucial element in the manufacturing of final goods such as cars and
consumer electronics. COVID-18 pandemic in 2020 had lockdowns which resulted in
bottlenecks in the supply chain for semiconductors and changed preferences to
work-from-home. Giobal economic growth is projected at -4.9% in 2020.

(a) Explain why a significant shortage of microchips exists during COVID-19 pandemic in

2020, [10]

(b) Discuss whether consumers or producers are more likely to bear the cost of the
change in microchip prices.
[15]

Part (a) suggested answer

Introduction

e The events mentioned in the preamble caused an increase in demand and a decrease in supply
of microchips thus resulting in a shortage of microchips.

Body:
L for mi ]

e Due to the pandemic, global growth is projected to be at -4.9%. This means that most economies
would be in a recession in 2020. There will be a decrease in the demand for car (output), the
derived demand for microchips will decrease.

e However, the pandemic also brought about lockdowns and work from home arrangements. Due
to the work from home arrangement, there is a change in taste and preference towards
consuming more electronic products such as laptops, monitors and printers. As microchips is an
input factor to manufacture the electronic products, with the increase in the demand for laptops
(output), the demand for microchips wilt increase.

e The fall in income and the change in taste and preference have contradictory effects on the
demand for microchips.

e The overall increase in demand for the microchips is illustrated by the rightward shift of the
demand curve from D, to Dy in Figure 1.

e The supply of microchips has fallen due to the supply shock/government policy.

e With the COVID-19 lockdowns across different countries, the government policy has caused the
supply of microchips to decrease as the producers are faced with supply chain disruptions and
production constraints. Hence, supply of microchips decreases and is lllustrated by the leftward
shift in supply from S, to S, in Figure 1.

Price of
micvochips
4 58,
MMo
1»
tc
gv
o » Quantity of
iceoch|
q o o o icrochips

e The shortage of microchips Is significant due to large increase in demand and |

supply of microchips.
s Hence, the large extent of rightward shift in demand and leftward shift in supply have resulted in

significant shortages of microchips.

Conclusion

e There Is a significant shortage of microchips, due to the high demand and fall in supply.
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In the consumer electronics (as smartphones and computers) market, consumers rather than the

producers may bear a greater burden of the increase in costs of microchips.

e For smartphones and computers, there is a high degree of necessity to use these devices for
education, communication and entertainment. Hence, demand consumer electronics is relatively
price-inelastic, as lliustrated by the demand curve DD in Figure 1.

e In contrast, supply of consumer electronics is likely to be price elastic due to shorter
manufacturing time period and the existence of spare capacity. Hence, producers of consumer
electronics may be able to respond quickly to the higher market prices by increasing the quantity
supplied of consumer electronics of by increasing production. This is illustrated by the supply
curve in Figure 1 below.

e In Figure 1 below, the per unit cost increase is given by bP,, where consumers bear a greater
incidence of price increase of PgP; and the producers bears a smaller incidence of bP,.

Evaluative conclusion

e The extent of burden of an increase in microchips costs on consumers and producers depends
on the relative price-elasticity of demand (PED) and price-elasticity of supply of the goods itself.
e The extent of burden of an increase in microchips costs on consumers and producers depends

on the extent of shift of supply given the differing relative importance of microchips in terms of the
total cost of car or consumer electronics.

Mark sche:

me
. .

_w.w,_. m.: m:w&ma »_._mam:._osme.m.mw knowle

EXCELLENT breadth that considers the following economic concepts in explaining multiple
and balanced perspectives, viewpoints, relationships and factors. ALL points chosen should
be of relevance and significance in answering the question.

EXCELLENT depth in economic analysis that refiects the following in ALL explanations.
v Accurate use of economic concepts, clear elaboration, and precise use of

8 _..m 0 economic terminologies, language and phrasing.
The answer should also be supported by:
Well-labelled and well-referred to diagram(s) / tool(s) of analysis drawn with precision
{where appropriate).
Relevant examples and accurate use of facts.
Logical structure.
For an answer that demonstrates knowledge and understanding but lacks application and analysis:
At least GOOD breadth that considers the following economic concepts in explaining
multipie and balanced perspectives, viewpoints, relationships and factors. MOST points
chosen should be of relevance and significance in answering the question.
At least GOOD depth in economic analysis that reflects the following in MOST
explanations.
L2 v Accurate use of economic concepts, clear elaboration, and precise use of
5-7 economic terminotogies, language and phrasing.
The answer should also be supported by:
Diagram(s) / Tool(s) of analysis that may not be well-labeiled, may not be well-referred to
and may not be drawn with precision (where appropriate).
Example(s).
Logical structure.
For an answer that demonstrates knowledge but lacks understanding, application and analysis:
INSUFFICIENT breadth that considers the following economic concept(s). Point(s) chosen
High L1 may be of refevance but may not be of significance in answering the question.
3-4 INSUFFICIENT depth in economic analysis that may reflect the following:
e Lack of accuracy in the use of economic concepts, lack of clarity in elaboration, and
lack of precision in the use of economic terminologies, language and phrasing.
For an answer that:
Low L1 Is irrelevant in analysis but may contain an introduction that addresses the question or
1-2 contains no economic analysis but may contain a few statements that are relevant to the

concepts required to answer the question.
Contains fundamental conceptual errors in analysis.
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2022 NJC H2 Economics Preliminary Examination Essay Question 2

2

(a) Explain why some consumer electronics megastores in Singapore like Courts and

Harvey Norman would price match other consumer electronics megastores by
charging the same prices for same products but smaller consumer electronics
stores in the neighbourhood would not.
[101

(b) Discuss whether demand or supply factors are more important in explaining the

coexistence of big businesses and small independent businesses.
[15]

Part (a) suggested answer

Introduction

Consumer electronics stores in Singapore operate in a oligopoly market structure.

The megastores (i.e. oligopolies) are mutually interdependent thus would price match
other megastores.

The smaller stores in the neighbour woutd not match the megastores.

Body 1: Explain that some consumer electronics megastores would price match other
consumer electronics megastores by charging the same prices for the same products.

¢ In Singapore's consumer electronics market, there are a few dominant firms (e.g. Courts,

Harvey Norman, Best Denki, Challenger,) and each of these megastores has significant
market share.

in addition, there are high barriers to entry in the market. For example, existing
megastores enjoy tremendous brand loyalty via their respective loyalty reward program
where members can accumulate points which can be used to enjoy additional discounts,

attractive free gifts, etc.

Furthermore, each of the megastore sells differentiated goods thus there are a few close
substitutes e.g. same product from the same brand such as LG, Samsung, Panasonic
but each has different inhouse warranty.

The megastores are therefore mutually interdependent.

If a megastore reduces its price, other megastores would have to follow suit i.e. price
match. If not, they would face a decrease in demand and profit would decrease.

Body 2: Explain that smaller consumer electronics stores in the neighbourhood would
not price match the megastores because they do not need to and/or are unable to.

e On the other hand, due to their small scale of production / sales, the smaller stores in the

neighbourhood would not price match the megastores because the former does not
enjoy the level internal economies of scale (IEOS; if any) enjoyed by the megastores.
For example, the smaller stores are less able / unable to enjoy marketing economies of

scale e.g. with smaller scale of production / sales, advertising cost of the smaller stores
is only shared across a smaller amount of output / sales. As a result, when faced with
the lowering of prices by the megastores, the smaller stores are unable to price match
the lower prices due to their higher average cost.

Conclusion

In conclusion, consumer electronics megastores would price match other consumer
electronics megastores by charging the same prices for the same products due to
mutual interdependency but smaller consumer electronics stores in the neighbourhood
would not due to their inability to enjoy IEOS.
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o The coexistence of big and small firms can thus be explained by the nature of the I ——_——

roducts / goods which is a supply factor. = e ————r
pro le i g, application and analysis:
Evaluative conclusion EXCELLENT breadth that considers the following economic concepts in explaining multiple
. N . - and balanced perspectives, viewpoints, relationships and factors. ALL points chosen should
e in conclusion, _X.:_._ demand m:a.mcuu:\ / cost factors are important in explaining the be of relevance and significance in answering the question.
coexistence of big and small businesses. Whether demand or supply factors are more
important in explaining the coexistence of big and small businesses depends on: EXCELLENT depth in economic analysis that reflects the following in ALL explanations.
L3 v Accurate use of economic concepts, clear elaboration, and precise use of
o The type / nature of goods considered. 8-10 economic terminologies, language and phrasing.
« For example, if the goods considered are necessity which has huge The answer should also be supported by:
am"..:m:a nﬂm: irmﬁ:mm a business grows big or mamn_« depends more w: WellHabelled and well-referred to diagram(s) / tool(s) of analysis drawn with precision
' o ! (where appropriate).
the m.:uu_< factor such as the ability to enjoy IEOS However, if the goods Relevant examples and accurate use of facts.
considered are super iuxury such handbags that are handmade with rare Logical structure.
materials, even if there is a large demand, some businesses are unlikely
to grow big.
For an answer that demonstrates knowledge and understanding but lacks application and analysis:
o The importance of services surrounding the goods: For example, for Al lezst GOOD breadth that ders the followl _ i saini
: ie i eas! rea at considers -3 jowing economic concep! in explaining
mooam %\ﬂm_‘m x:os.\_ﬂ.ﬂmm _.mcm_d_:.u »_;M ﬂmm M* nMMoﬂomﬂm mm me._wﬁwmﬂmm_ﬁw multiple and balanced perspectives, viewpoints, relationships and factors. MOST points
emand factors mig e more important as p \ chosen should be of relevance and significance in answering the question.
provide such knowledge are important. As such, demand factor might be
more important in explaining the coexistence of small independent. At least GOOD depth in economic analysis that reflects the following in MOST
explanations.
12 v Accurate use of economic concepts, clear elaboration, and precise use of
5-7 economic terminologies, language and phrasing.
The answer should also be supported by:
Diagram(s) / Tool(s) of analysis that may not be welldabelled, may not be well-referred to
and may not be drawn with precision (where appropriate).
Example(s).
Logical structure.
For an answer that demonstrates knowledge but lacks understanding, application and analysis:
INSUFFICIENT breadth that considers the following economic concept(s). Point(s) chosen
High L1 may be of relevance but may not be of significance in answering the question.
3-4 INSUFFICIENT depth in economic analysis that may reflect the following:
e Lack of accuracy in the use of economic concepts, lack of clarity in elaboration, and
lack of precision in the use of economic terminologles, language and phrasing.
For an answer that:
Low L1 Is irrelevant in analysis but may contain an introduction that addresses the question or
1-2 contains no economic analysis but may contain a few statements that are relevant to the
concepts required to answer the question.
Contains fundamental conceptual errors in analysis.
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Children who grow up in lower-income families have less access to quality education. Singapore
government will start to level the playing field by providing more assistance to those in danger of
being left behind during pre-school years. In addition, the government also double spending on
the pre-school sector to $1.7 billion by 2022.
Discuss the factors that the Singapore government should consider in its decision to intervene in the
pre-school education market.
[25)

Suggested Answer Outline

Introduction

e In deciding whether to intervene in the pre-school education market, the government has to gather

the necessary information from various economic perspectives, consider its constraints, weigh the
benefits versus the costs of such intervention and consider its unintended consequences. This
approach is known as the decision-making framework.

Benefit 1  Correct market failure due to po.

ive externalities in consumption to achieve allocative

efficiency

The benefits of early education extend to society as a whole. The third party (society) benefits
through better work force in the long term as pre-schoo! education might enable to child to develop
good cognitive skills which will translate to more year of schooling and better labour work force
which will bring about more innovation and higher productivity.

Hence, the presence of marginal external benefits (MEB) creates a divergence between the marginal
private benefits (MPB) and marginal social benefits (MSB) where MSB= MPB + MEB.

Assuming no negative externality, marginal private cost (MPC) equals to marginal social cost {(MSC).

Cost/Benefit

MPC=MSC

Years of pre-school
education consumed

In the pursuit of self-interest, consumers will only consider their own private costs and benefits and
consume at 0Qp, where MPC=MPB. However, the socially optimum output level is 0Qs, where
MSB=MSC.

Thus, there is an underconsumption of QpQs units leading to a deadweight loss of area ABC and
allocative inefficiency.

Hence, government intervention can be beneficial via attaining allocative efficiency (the above
explain the need for government intervention not the benefit of it).

The subsidy will reduce the MPC, shifting the MPC curve from MPC to MPC + subsidy per unit,
causing the consumers to consume pre-school education up to the level of Qs, hence coinciding with
the socially optimal output level.

Cost/Benefit
MPC=MSC

MPC+Subsidy per unit

1

'

1

: Years of pre-school
0 Q Q education consumed

Evaluation of benefit 1

Due to imperfect information, it is difficult to accurately measure the amount of MEB.

Benefit2 Correct market failure due imperfect information to achieve allocative efficiency

If left to the free market, it is fikely that pre-school education will also be under-consumed because
the family/household undervalue the family’s private benefits from the consumption of pre-school.
Most parents perceived the MPB of pre-school education to be acquisition of simple knowledge by
their children.

However, parents have underestimated the amount of true benefits to pre-school education.

As most parents may be unaware of the extent of the full benefits from pre-school education. With
reference to figure 3, due to imperfect information, there is a divergence between MPBperceived
and MPBactual.

Hence, with imperfect information, there will be an underconsumption of Qp’Qa units of pre-school
education and the welfare loss is represented by area ABC.

To attain allocative efficiency in the case of imperfect information, the government could provide
campaign to inform parents of the true benefits to
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Marking Scheme

analysis:

EXCELLENT breadth that considers the following economic concepts in
explaining multiple and balanced perspectives, viewpoints, refationships and
factors. ALL points chosen should be of relevance and significance in
answering the question.

EXCELLENT depth in economic analysis that reflects the following in ALL

For an answer that demonstrates knowledge and understanding but lacks
application and analysis:

At least GOOD breadth that considers the following economic concepts
in explaining multiple and balanced perspectives, viewpoints,
relationships and factors. MOST points chosen should be of relevance
and significance in answering the question.

At least GOOD depth in economic analysis that reflects the following in

High L3 A
explanations.
18-20 « Accurate use of economic concepts, clear elaboration and precise use of
economic terminologies, tanguage and phrasing.
The answer should also be supported by:
Well-labelled and well-referred to diagram(s) / tool(s) of analysis drawn with
precision {(where appropriate}.
Relevant examples and accurate use of facts.
Logical structure
For an answer that demonstrates knowledge, understanding, application and
analysis:
At least VERY GOOD breadth that considers the following economic
concepts in explaining multiple and balanced perspectives, viewpoints,
relationships and factors. MOST points chosen should be of relevance and
significance in answering the question.
At least VERY GOOD depth in economic analysis that reflects the following
Low L3 in MOST explanations.
15-17 Accurate use of economic concepts, clear elaboration, and precise use of

economic terminologies, language and phrasing.

The answer should also be supported by:

Well-labelled and well-referred to diagram(s) / tool(s) of analysis drawn with
precision (where appropriate).

Relevant example(s) and accurate use of facts.

Logical structure.

High L2 MOST explanations.
Accurate use of economic concepts, clear elaboration, and precise use
12-14 of economic terminologies, language and phrasing.
The answer should also be supported by:
Diagram(s) / Tool(s) of analysis that may not be well-labelled, may not
be well-referred to and may not be drawn with precision (where
appropriate}.
Example(s)
Logical structure
For an answer that demonstrates knowledge and understanding but lacks
application and analysis:
At least SUFFICIENT breadth that considers the following economic
concepts in explaining muitiple and balanced perspectives, viewpoints,
relationships and factors.
SOME points chosen should be of relevance and significance in answering
the question.
At feast SUFFICIENT depth in economic analysis that reflects the following in
SOME explanations.
tow L2 . .
9-11 v Accurate use of economic concepts, clear elaboration, and precise use of

economic terminologies, language and phrasing.

The answer should also be supported by:

v Diagram(s) / Tool(s) of analysis that may not be well-labelled, may not be
well-referred to and may not be drawn with precision (where
appropriate).

v Example(s).

v Logical structure.
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Part (b}

infroduction

e State that a fall in world interest rates can have positive and negative effects on Singapore
and external stability.

e The fall in world interest rates would affect the economies of Singapore's trading partners and this
would in turn affect Singapore internal stability given the small and open nature of Singapore's
economy via impact on its net export revenue.

« In addition, given Singapore is an interest rate taker due to the small and open nature of its economy,
the fall in domestic interest rates would also affect Singapore’s internal stabllity.

s internal

ariners and in turn affect Singapore’s export revenue and its external stabil .

e A fall in interest rates in economies of Singapore’s major trading partners would lower the cost o
borrowing for households and firms in the economies. Households would increase consumption
expenditure (C) and firms wouid increase investment expenditure (I). Given AD=C++G+(X-M), the
fall in interest rates would increase AD which in turn would lead to actual growth and higher national
income.

e Given the higher national income of Singapore's major trading partners, there would be an increase in
Singapore's export revenue (X).

e The increase in net export revenue would lead to an increase in credit items in current account and

thus lead to an overall improvement in Singapore’s Balance of Payment position.

E G f Low Cyclical U _

e Given that Singapore is an inferest rate taker (as explained in part a), domestic interest rates in
Singapore would fall as well.

e Therefore, C and | in Singapore would also increase (as explained earlier) as cost of borrowing falls
with lowered domestic interest rates. Coupled with the increase in X explained earlier (which has a
significant effect on Singapore's AD because X takes up a large proportion of Singapore’s AD),
Singapore's AD might increases significantly.

e The increase in AD would lead to an improvement in economic growth and fall in cyclical
unemployment.

GPL A8
A
1
]

1 1y

1 1 AD,

' I AD,

1 L » Real national income
0 Y, Y, Y, .

Eigure 1. AD-AS (Actual growth in Singapore)

08 mpact on Singapore's internal sta al Econom due fo increa

e The increase in investment expenditure would also suggest, for example, an increase in the acquiring
of capital assets that would increase Singapore’s ability to produce more gocds and services in the
future. Therefore, Singapore's productive capacity would increase thus increasing Singapore's full
employment level of output leading to an increase in Singapore’s long run aggregate supply (LRAS).

e Hence, the fall in interest rates would increase Singapore's potential growth. Coupled with the

increase in actual growth, Singapore can enjoy sustained economic growth which is non-inflationary.

e Overall the fall in interest rates can positively affect Singapore's internal and external stability.

tability (Price Stability)

e However, the increase in AD due to lower interest rates may compromise on price stability. If
Singapore is operating near full employment level of output at the upward sloping portion of AS
curve where there is a lack of/ limited spare capacity, the fall in interest rate might lead to demand
pull inflation in Singapore.

e Trading partners in Singapore may also similarly suffer from demand-pull Inflation due to increase
in AD brought about the fall In world interest rates.

e Given that Singapore has limited resources and is import-reliant, higher global prices mean
higher price of imported inputs and thus an increase in imported cost of praduction.

e Overall, the fall in interest rates can have negative effects on Singapore's internal stability in the
long run where most economies may be operating nearer to the full employment output level
instead.
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o There would likely be higher cost push inflation, damaging the supply side of the economy. Also,
the decrease in production would result in a decrease in real national income, damaging the

5 Amid the COVID-19 pandemic, investment wili remain weak for an extended period. supply side of th
Prolonged recession will shrink the labour force and lending capacity of financial systems. PPl ot tne economy.
These have damaged the supply side of many economies, with many economies facing Conclusion

recession and cost push inflation.
e In conclusion, a sustained period of low aggregate demand might damage the supply side of the

(a) Explain how a sustained period of low aggregate demand might damage the supply side of econom
an economy. Y.
[10]
(b) Discuss whether demand management or supply side policies are more effective in helping
an economy recovers from the effects of the pandemic.

[15]
Part (a) suggested answer.

Introduction

e A sustained period of low aggregate demand will lead to a decrease in short run aggregate
supply (SRAS) and long run aggregate supply (LRAS).

Body 1: Explain how a sustained period of low aggregate demand will lead to a decrease in
short run aggregate supply (SRAS).

o Asustained period of low aggregate demand (AD) suggests poor economic outlook.

o Due to the higher risk, supply of loanable funds will decrease, leading to higher interest rates i.e.
“Prolonged recession will shrink ... lending capacity of financial systems”. As a result, cost of
borrowing for firms would increase. Investment expenditure (f) in the country will decrease i.e.
“investment will remain weak for an extended period".

e Moreover, a sustained period of low AD, some workers might be demotivated to work and thus
leave the labour force i.e. “Prolonged recession shrink the labour force”. Hence, supply of
labour resource decreases.

e Overall, the decrease in the supply of resources in the country would lead to higher prices of
these inputs. Thus, the cost of production for firms would increase. As a result, SRAS would
decrease, damaging the supply side of the economy.

Body 2: Explain how a sustained period of low aggregate demand will lead to a decrease in long
run aggregate supply (LRAS).

o As explained earlier, the sustained period of low AD would result in a decrease in the quantity of
resources. The ability of the economy to produce would decrease, productive capacity and
LRAS of the economy would decrease, damaging the supply side of the economy.

Body 3: Explain how the decrease in SRAS and LRAS would lead to higher cost push inflation
and recession.

More papers available at www.testpapersfree.com



BP-427

‘LA 0} OA LUOY PB)JELISNY) S Bloou)
leuoneu [eat asealoul Jim Qv 0} °dy woy | weibelq ul pajessnyj e gy Ul 8SeaIoul ay) {leIon0

‘Buimouiog 4o 1509 Jaybiy o) anp uopdwnsuos pue JusWSaAU
aleaud Jno pmosd Wy uj pinom sy ‘algnd ayp urosy Bumollog o) Mosal
0} sey sny; pue 9 punj 0} saaesal Jo/pue 196pnq [eosy pasinbai ay) aAry Jou
S90p JuawiuIaaob e | "eAdaye aq 0} abie| Apusioyns aq 0} SeY O 'SSOIOYUOASN  «

‘av aseaioul 03 © Buiseasaul jo (sjuoneywy o

‘Qy 9seasdu) 0} (AyAnoauu0d Jodsues) Jo uoisuedxs ‘Bulules s|Ns pelejes Joy pue Auouoas
[eNBIp e 0} uojeuojsues) Joy uojjesedaid Ul SOMBU PUB SUORNSUI [euceonps Buippng -5a)
Buipiing ampongseyu uo puedxs pue d)eIs|eo0e UED JUSWLISACB oY) ‘aldwexe 104 ‘UOISS8Idl
8y} WoJ) s19A0D8L AIOU0D3s ay) dey ued (D) ainypuadxe juswuisacb Buiseanul ‘siowieyung

“uoieyul ysnd 1509 U 3Insal Al pinom Aousuno sy} 4o Bujusyeam
oy} ‘spasu d1seq jsow oy} uane jo Bupiodw) uo juspusdep snyj sedinosel
[einjeu ou sey yojym asodeBuig oy Awouoos souelel Podw U 10} YOASMOH  »

"si1an03a1 Awouods auy diay o3 ajes abueydxa Jo uonerdsasdep jo (sjuonmuy o

‘aseasoul
pinom Qv 2ouay ssealoul pinom (W-X) ‘Spioy uopipuod Jousa-jleysiely Bupwnssy ‘sjuspisal
onsawiop 0} eAlsuadxe aiow ApAnelRs spodun sy Bupjew siym sjuspises ubleso) o) Jedesyd
Ajeanela: sypodxe s/junco oy} exew pinom £ousiind o)SSWOP Sy} jo uonenaidep syy -ejel
abueyoxe ay) jo Bupjeam el s| s1er0o8) Awouoda ay) digy 0 Juswaebeuety puewap Jayjouy

“Buimoutoq Buim aq Jou jns Jybiw sjuabe olwouoss swos ‘onwepued
8y Buunp Auiepsoun pue ysu ybly si asey) esnesaq Atospaid ‘ssejaypareN

Qv esealsu) o) sojel 3sasajul Butemol Jo (s)uopeyw] o

"9sealaul pinom Qv (N-X)+9++0=Qy UsAIS (D) ainjipuadxe uopdwnsuas uj asessou
UB '9"l puads 0} MOLIOG O} SJSWNSUOD BSIAULOLY SouUay pue uojdwNsuod Jo 3500 AJunpoddo
8y} aseasdap pinom sejel Jsaisiul Jo Buemol e ‘osly *(j) ainypuadxe JuswisaAul asealou] o)
Anpqeyyoid suny aseaiou) sny) pue BUIMOLIO JO JSOD 8Npal PINOM SSJEI SIS U} BSeaIap

‘UOISSa23] BY} Wod}
s1anogas Awouode ay) disy ued Aaljod Asejeuow panuso ajel jsesd)ul BIA Juswebeuelw puewap
‘(e) wed u pajsebbns se Ayigeio.d mo] pue sajel Jsasajul Ybiy Jo anss) Buiuuidiapun ay} usai)

‘av

Buiseasouy u) (ser)hayjod Juswabeuew puewsp jo (s)uoyeus) pue Bupuom oy ujeidx3g :} Apog

‘Olwapued ay} JO SjOaYe aY) WO} JOA0IB
0} Awouoas ay) Buidjsy ul aansaye aq ueo seiolod epis Alddns pue jusweBbeuew puewap ujog

uoyoanpony|

Jamsue pajsabbns (q) yed

‘sisA[eue U] s10u8 |en)decuod ejuswieptn) sueuoD
‘uogisenb ey} ;Jamsue 0) pasnbal s)desuos z-1
ey} 0} JUBAd|S) BJB JeU) Sjuswale)s Mej B Ulejucd Aew Jng SSAJEUB O)LIOUCIS OU SUJRJUCD 1Mo
Jo uonsanb sy sessaippe Jey uoyONpoAU| ue UBjuoo Aew INg SisAjeue U] JueAsall S|
‘jey} Jamsue ue Jo4
-Buiseiyd pue abenbue) ‘sajbojoujuLa) StLOUCIS JO asN By} Uy uoispasd Jo yoe|
PUE ‘Uolesoqele U Aue Jo joe| ‘sjdaoucd JILIoU0Ia JO 8Sn Y} Ul ASBINODE JO o] e
:Bumolio ey} syl Aew jey) sisAjeue ojwouoss ul tdep INSIOIHANSNI p-€
B
‘uopsanb ay) Bupemsue uj ssueolubIs JO 84 Jou Aew JnNq aoueAs|al Jo aq Aew 11 UbH
uasoyo (s)iutod ‘(s)hdeauos slwouose Bumol|o} el siepisuod Jeuy} yipeaiq LNJIOIJINSNI
:sisAjeue pue uopeajidde ‘Buipuejsiopun syoe} Jnq abpamouy sejelsuowep Jey) Jamsue ue JoJ4
‘aimons [esibon
‘(s)ejdwex3y
‘(eyeudoidde aseym) uosioasd UM umelp aq Jou Aew pue
0} pasiajai-fjlem eq jou few ‘pajleqel-|em aq Jou Aew ey} sishjeue Jo (s)jooy. / (s)weibeig
:Aq peyioddns aq osje pjnoys Jamsue oy
‘Buisesyd pue sbenbue) ‘sajfojoulLie) opUoU0d 1-S
40 @sn aspaid pue ‘uoyeioge|d Jesjo ‘sjda0U0D DJWIOUDDD JO BSN BJRINIDY A 21
‘suojjeuejdxa
LSOW w Buimojioy ey) sjoeyss jJeyy sishjeue ojwouodss ul ydep QOOD Ises| v
‘uofjsenb ay} Buuamsue u| asueayiubls pue 9oUBAB)aS JO 9] PINOYS UBSOYD
sjulod 1 SOW "siojoe} pue sdiysuopelal ‘sjulodmeln ‘seayoadsiad paoueleq pue ejdpinw
Buiuieidxe U] s)deoucd sjwouods Guimojo) BY} S1BP|SUCD Jey) YIpealq JOOO 1ses| IV
:sisjeue pue uopeoljdde syoe| Jng Suipuejssepun pue obpamouy SejeljSUoWaP Jel} JaMSue ue Jog
‘aJmonys jesifio
'S}0B} JO OSN 9)RIN2oR pue SA|dWEXa JuUBAjOY
‘(eyeldosdde aiaym)
uojsjoaid yym umesp sisAjeue jo (s)joo} ; (s)weibelp o} peiojal-ilom pue pejieqe|-lam
:Aq peyoddns aq osje pjnoys Jamsue ayl
‘Buiseayd pue abenbue ‘se)fojoujunie) sjwouose 0L-8
40 esn aspasd pue ‘uojjeioged Jesjo ‘sydenuod JJUIOUOIS JO 9SN AJRINIIY A €1
‘suojeue|dxe Ty ul Bumoljo} sy} spoayal Jeyy s|sAjeue ojwoucds u) yidep INITIIOXI
‘uojjsenb ey} Bupemsue uj asuesyjubls pue aoueaeled Jo aq
pinoys uasoyo sjujod v "s10j08} pue sdiysuopeias ‘sjujodmela ‘seanoadsiad peauejeq pue
sidpinw Bujure|dxa u| sjdesuod sjwouoss Buimoljo) ay) Siapisuod Jey) yipealq i NI T13OX3
:s|sAjeue pue uopesidde ‘Buy ‘abpa|mouy Se)esSuUoWap Jey) JOMSU. uB 104
: R SHSI9AON;

awayds v.m._ms_

More papers available at www.testpapersfree.com




BP~428

GPL AS

" AD,

! AD,
| | » Real national income

0 Yq Y, Y,

o - —

Diagram 1; Increase in AD

The increase in AD would increase national income via the multiplier effect where the increase
in expenditure would generate an increase in income, vice versa, to eventually result in a more
than proportionate increase national income, thus helping the economy to recover.

o Limitation{s) of increasing AD to increase national income.

« Nevertheless, for demand management polices to help the economy recover
effectively, the size of the multiptier has to be large. if the muitiplier is small, the
eventual increase in national income might not be significant, thus the use of
demand management policies might be of limited in helping the economy
recovers.

Body 2: Explain the working and limitation(s) of supply side policy(ies) increasing SRAS and
LRAS.

e Beside demand management policies, supply side policies can also be effective in helping the
economy to recover from the effects of the pandemic.

e The preamble and the analysis in part (a) suggests that the pandemic has resulted in cost push
inflation and a decrease in national income.

e One supply side policy that can help the economy recovers is the reskilling / upskilling of
workers e.g. SkillsFuture in Singapore where subsidies are given for courses and participants
received wage compensation.

a. Such supply skill policy would incentivise workers to go for reskilling / upskilling. The reskilling /
upskiliing of workers would help match workers who learned new skills to jobs that require those
skills. As such, it would reduce the number of workers who drop out of labour force. If so, the
supply of workers would increase. Furthermore, the newly acquired skills will increase the
productivity of the workforce. These suggest decreasing firms cost of production and hence an

increase in SRAS as illustrated from SRAS, to SRAS, in Diagram 2, helping the economy to
recover.

GPL LRAS, LRAS,

vb — - - — - -

8RAS,
P, N — - — B
[ |
SRAS, i LI I
i 1
I [ I |
1 I I |
] | I - » Real national income
1] <a <a <_ <=

Diagram 2: Increase in SRAS and LRAS

b. In addition, the higher productivity also suggest that the productive capacity of the economy is
going to expand thus LRAS would increase as illustrated from LRAS, to LRAS, in Diagram 2
respectively, helping the economy to recover.

o Limitation(s) of reskill / upskilling to increase SRAS and LRAS.

» Nevertheless, for this policy to effectively help the economy recovers, workers
must be receptive to reskilling / upskilling. A rational workers would not
participate of the costs of doing so is larger than the benefits.

Nonetheless, the increase SRAS would incentivise firms to increase production. Cost push
inflation would dampen as illustrated from P, to P, and real national income would increase as
illustrated from Y, to Y, in Diagram 2, helping the economy to recover. -

Evaluative conclusion:

e In conclusion, the use of demand management policies and supply side policies can help an
economy recovers from the effects of the pandemic. Whether demand management or supply
side policies are more effective depends on the nature of the economy, the root issues to be
addressed and time period under consideration.

e For an economy like Singapore which has high MPM and MPS, its multiplier (k) is likely to be
small. An increase in AD would not likely be effective helping the economy get back to
pre-pandemic leve!, thus demand management policies might not be as effective.
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A synthesis of earlier economic arguments to arrive at relevant judgements/decisions {i.e.

answer the question).

am.w.m Well-explained criteria-based evaluative comments supported by accurate and clear
analysis to provide fairness in views.
A good summative conclusion.
For an evaluation that contains
Relevant judgement(s)/decision(s) (i.e. answer the question) that may not follow from
E2 earlier economic arguments.

2-3 Criteria-based evaluative comment(s) supported by analysis to provide fairness in views
but the comment(s) may not be well-explained, may be unclear and/or may be inaccurate
at times.

For an evaluation that contains
Relevant but unexplained evaluative judgement(s)/statement(s) i.e. evaluative
mup judgement{s)/statement(s) not supported by analysis or

A relevant conclusion.
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L3
8-10

Mark scheme

n R
For an answer that demonstrat

EXCELLENT breadth that considers the following economic concepts in explaining multiple
and balanced perspectives, viewpoints, relationships and factors. ALL points chosen should
be of relevance and significance in answering the question.

EXCELLENT depth in economic analysis that reflects the following in ALL explanations.
v Accurate use of economic concepts, clear elaboration, and precise use of
economic terminologies, language and phrasing.

The answer should also be supported by:

Well-labelled and well-referred to diagram(s) / tool(s) of analysis drawn with precision
(where appropriate).

Relevant examples and accurate use of facts.

Logical structure.

For an answer that demonstrates knowledge and understanding but lacks application and analysis:

At least GOOD breadth that considers the following economic concepts in explaining
multiple and balanced perspectives, viewpoints, relationships and factors. MOST points
chosen should be of relevance and significance in answering the question.

At least GOOD depth in economic analysis that reflects the following in MOST

explanations.
v Accurate use of economic concepts, clear elaboration, and precise use of

economic terminologies, language and phrasing.

The answer should also be supported by:
Diagram(s) / Tool(s) of analysis that may not be well-labelled, may not be well-referred to

and may not be drawn with precision (where appropriate).
Example(s).
Logical structure.

High L1
3-4

For an answer that demonstrates knowledge but lacks understanding, application and analysis:

INSUFFICIENT breadth that considers the following economic concept(s). Poini(s) chosen
may be of relevance but may not be of significance in answering the question.

INSUFFICIENT depth in economic analysis that may reflect the following:
e Lack of accuracy in the use of economic concepts, lack of clarity in elaboration, and
lack of precision in the use of economic terminologies, language and phrasing.

Low L1
1-2

For an answer that:

Is irrelevant in analysis but may contain an introduction that addresses the question or
contains no economic analysis but may contain a few statements that are relevant to the
concepts required to answer the question.

Contains fundamental conceptual errors in analysis.

Part (b)

Introduction:

e The recent falt in the value of the Chinese yuan, which led to the US officially naming China a
‘currency maniputator’, would have an impact on Singapore’s economy since China Is one of
Singapore's top major trading partners.

e The resulting undervalued or a fowered vaiue of the Chinese yuan relative to other countries currency
including the Singapore dollar (SGD) will make Chinese exports more price competitive in the global
MM._._AQ while the price of imported goods into China will be high and more expensive for residents in

ina.

Body:

‘.. ....... .... .

I._._._mc:amZm_:mnoﬂ_oim_du<m_=mo:-_moz_._mmmv&m:_.m_m.?m»o.:mn::m:o_mm Qo~:mqno:=»amm
including SGD would mean refatively higher priced imports into China. This leads to a low demand for
imported goods into China as firms located in China switch to domestic substitutes, substituting
imported goods with goods produced domestically in China.

s__The low demand for imports into China translates into low demand for Singapore exports.

s__The low demand for Singapore exports means low price and low quantity of Singapore exports
leading to a low value of Singapore’s export revenue (X).

s Singapore’s import expenditure (M) increases as the undervalued Chinese yuan means it is now
relatively cheaper for residents in Singapore to import goods and services produced domestically in
China as compared to before the undervaluation of the Chinese Yuan.

s __Aggregate demand (AD) Is therefore low at AD, in Figure 1 since Singapore's net exports (X-M) is
low, given that net exports is a component of AD where AD = C++G+(X-M) resulting in a low national
income level Y,.

The depressed real national income could mean a slowdown in actual growth and high

unemployment.

GPL
LRAY

p, | SBAS,
N SR A

N
AD, > Al

Y1 Y, Ye Real Output
Figure 1 - Impact on Singapore’s economy

Point Evaluation:

s__The lowered value of the Chinese yuan against SGD may not necessarily cause a low demand for
Singapore exporis since Singapore exports high-tech and capital-intensive manufactured goods and
services like telecommunications, computer and information services. This may mitigate the low

demand for Spore exports.
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for an evaluation that contains

A synthesis of earfier economic arguments to arrive at relevant judgements/decisions (i.e.

answer the question).

&m.wm. Well-explained criteria-based evaluative comments supported by accurate and clear
analysis to provide fairness in views.
A good summative conclusion.
For an evaluation that contains
Relevant judgement(s)/decision(s) (i.e. answer the question) that may not follow from
B2 earlier economic arguments.

2-3 Criteria-based evaluative comment(s) supported by analysis to provide fairness in views
but the comment(s) may not be well-explained, may be unclear and/or may be inaccurate
at times.

For an evaluation that contains
Relevant but unexplained evaluative judgement(s)/statement(s) i.e. evaluative
mp”_. judgement(s)/statement(s) not supported by analysis or

A relevant conclusion.
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